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AtLIZfFL-FIR THBEE AJIFEFEEE RNAN CANIIERIFEQIR)

A EAB 4 3% 7A78 |FEMIE CHERIRS) ¥41,872,728
FIER BRR
AHE =% (M Ayt—o ®5%E
1 |AREH KIFES 41,500,000 RE
2 = BAE 41,870,000
3 |BHAsit KEtE 41,870,000
4 |KERHE e 41,870,000
5 MRt AWIHE 41,870,000
6 |AR= FHEER 41,872,000
1 [N\NEREX AR 41,872,000
8 |MRX= JRTH R
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¥ SEOREFRMERVREFBRMEEEITROESYTT,
= 1K il PR i 1% 37,069,926 H
S HIR ffiAg = 88.53 %
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THBEE MMAATKESE WUITK ERMEISE

At & A B T 3% 7A78 | FEMECEERIKE) ¥29,347,273
IR ETKiERR
ARLE =% (M Ayt—o ®5%E
1| REER KXt 29,347,273 RE
2 |AR=# SHERIE iR
3 (M= #HAME iR
4 |BA=tt K51 iR
5 |AR=H FHEER iR
6 |JROEHE A= iR
7 | Et REIHE iR
8 %A=t AILTIHE iR
9
10
11
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X SEORESRMEERCEERREBRITELEOESYTT,
A I PRl 4% 25,567,344 A
B JE ] PR fffi 1% 22 87.12 %
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TIBEFE NIT7I)-EEHEX B/0-RaXR AE3EIs

At & A B T 3% 7A78 | FEMECEERIKE) ¥5,113,637
IR R
ARLE =% (M) Ayt—o e

1 [t hooEH 4,473,000 RE

2 |mELXKR 4,530,000

3 | Kfe #HA=H 4,565,000

4 |BR=# AR 5,110,000

5 KXt T/o—ER iR

6 |BR=# EkEH iR
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X SEORESRMEERCEERREBRITELEOESYTT,
A I PRl 4% 4,405,910 M
B JE ] PR fffi 1% 22 86.16 %
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At & A B T 3% 7A78 | FEMECEERIKE) ¥7,663,637
IR R
ARLE <8 () Ayt—o e

1| REER B4t 7,580,000 RE

2 %R AWIHE 7,650,000

3 |BR=w AIEFEXE 7,660,000

4 |BEFMER HRXed 7,660,000

5 [ARS4 SMERTE 7,663,000

6 (X1t ZERRE 7,663,637
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X SEORESRMEERCEERREBRITELEOESYTT,
A I PRl 4% 6,683,458 M
B JE ] PR fffi 1% 22 87.21 %
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A EAB 4 3% 7A78 |FEME CHERIRS) ¥8,856,364
FIER BRR
AHE =% (M Ayt—o ®5%E

1 [ K &4 7,947,000 RE

2 |KA=t REE 8,200,000

3 |ARsw \EELR—YLY 8,500,000

4 |BRESHE MHOES 8,590,000

5 |[SEXR R

6 |BRsi Wz tEEELKR e
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X SEOFEHIRME R CRIEHRBEEEETROEESYTT,
B K ) R A % 7,658,983 M
ARSI R i1 2 86.48 %




